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At a point, stresses in two mutually perpendicular
directions are 8KN/cm? compressive and 2 kN/cm?
compressive along with a shear stress of 2kN/cm*
Determine magnitude of principal stresses and their
directions and maximum shear stress at the point.

a) Explain different types of beams with
diagram.

b) What do you mean by Bending moment and
shear force? Explain in detail.

A beam 6m long is simply supported at ends
carries U.D.L. of 4kIN/m throughout its length.
Draw B.M. diagram of the beam using conjugate
beam method determine the slope at the ends an d
detlection in the centre EI is the flexural Rigidity
of the beam EI=10500 kN/m?
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] is not exceed 8ON/mm?det
detail.

the internal pressure of the gas.
Explain in detail.
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11) Fatigue testing
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a) What are the behaviour of material under

iv) Compression

111) Impact and Hardness
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A cylinder of internal diameter 205m and of
in

thickness Scm contain a gas. If the tensile stress
b) What do you mean by *“Shear and torsion™?

b) Drive Torsional equation.
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.10. Explain in these terms (Explain in detail)
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